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Basic Multiplication Word Problems
Two-Digit Factors - With Extra Information

Date:

The parking lot has 25 rows of
spaces. Each row can hold forty-four
cars Two hundred eleven of the
spaces are reserved. How many cars
can be parked in the [ot?

Answer

The park's sprinklers can spray
thirty-nine liters of water on the grass
in one minute. How many iters can
they spray in 33 minutes?

Answer:
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Sean planted thirty-three rows of
carrot seeds in his back garden. Each
row has 49 seeds. How many seeds
did Sean plant?

Answer

The college’s Internet connection can
transfer 37 megabytes of data every
second, How much data can it
transfer in 22 seconds?

Answer
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